SHOEE FkFEEST BHERER (HIRSRMFEXMN26IHE)
SHEFKIE | #HigKE | SHBKE | RERKE
AZEEE BEME HO | IwES AHHE NS AHHE
2024.01.18 | 2024.01.25 | 2024.01.18 | 2024.01.25
miE{t ik =0.002 | mg/L | <0.0002 <0.0002 <0.0002 <0.0002
12-ys0oaxsy =0.004 | mg/L | <0.0004 <0.0004 <0.0004 <0.0004
11-¥sOaxFLy =01 |mg/L| <0.002 <0.002 <0.002 <0.002
%y 12-¥s0axFLy =004 |mg/L| <0.004 <0.004 <0.004 <0.004
11:,5 13-¥san7a~y =0.002 | mg/L | <0.0002 <0.0002 <0.0002 <0.0002
g% syoaxay =0.02 |mg/L| <0.002 <0.002 <0.002 <0.002
gfg FrS/00IFLY =0.01 |mg/L| <0.001 <0.001 <0.001 <0.001
gg 11,1-FVsO0x sy =1 mg/L <0.1 <0.1 <0.1 <0.1
11,2-kFYsOO0xsy =0.006 | mg/L | <0.0006 <0.0006 <0.0006 <0.0006
FYyOOTFLY =003 |mg/L| <0.003 <0.003 <0.003 <0.003
~oEY =001 |mg/L | <0.001 <0.001 <0.001 <0.001
soOxFLy =0.002 | mg/L | <0.0002 <0.0002 <0.0002 <0.0002
ARIVLRUEDELEY =001 |mg/L| <0.001 <0.0003 <0.001 <0.0003
Al OLLEY =0.05 | mg/L <0.01 <0.01 <0.01 <0.01
- ST EEY A& | mg/L | FigR™ g™ g™ g™
é” KERUZDLEN =0.0005 | mg/L | <0.0005 <0.0005 <0.0005 <0.0005
gi (V% IVKER) AR | mo/L | FiRE* Rig* RigH* RigH*
gg ELoRUZOLEY =001 |mg/L| <0.001 <0.001 <0.001 <0.001
¥ ([ BRUZOEEY =001 |mg/L| <0.002 <0.002 <0.002 <0.002
R HERUZOLEY =001 |mg/L| <0.001 <0.001 0.001 0.001
7V RERUEOLEY =08 | mg/L 0.1 0.1 <0.1 <0.1
FORRUEDELEY =1 mg/L <0.01 0.01 <0.01 <0.01
f YIIY =0.003 | mg/L | <0.0003 <0.0003 <0.0003 <0.0003
E; FISh =0.006 | mg/L | <0.0006 <0.0006 <0.0006 <0.0006
gg FARVANT =002 |mg/L| <0.002 <0.002 <0.002 <0.002
= (PCB AR | mg/L | FRE* RigH* RigH* RigH*
E RV LEY A& | mg/L | FigR™ g™ g™ g™
1 EETR0.1mg/L
¥2  EETMR 0.0005mg/L
SHOEE FKkREELT SHEEBRER (HFEERMREXMNGOEB)
SHESKIE | WiligkE | SHBKE | RiBRKES
WEHRHB BEE | B [ anss SRS SHE SHE
2024.01.18 | 2024.01.25 | 2024.01.18 | 2024.01.25
ARIVALRUEZDEEY =150 |ma/kg <45 <1 <45 <1
= AffizoLbel =250 |mg/kg <25 <1 <25 <1
2_ |y7otEan =50 |mg/kg <5 <5 <5 <5
EE KERUEDLENY =15 |mg/Kg <15 <0.05 <15 <0.05
Eg L RUZDILEY =150 |mo/kg <15 <0.5 <15 <0.7
§§ NRUETOLEY =150 |ma/kg <15 3 <15 11
M |HERUTOLEY =150 |mo/ke| 68 26 16 81
" 7V RRUEOLEY =4000 |mg/kg 1,000 830 590 670
FIERUEOLEY =4000 |mg/kg <400 7 <400 7




